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frwton 1) Cheth the oue=ton pames for [y -Jﬂ;:‘: I Al dacr of

falrness infuim the hall supepges """
2) Use Bl o Black Ink 1 wlr:., g Jewdeting and pena! 10 draws duagrams

Nole. Thi queshion paper contains fou parts.

Note: |) Answer all questions.

. |
PART 14x1=14

li) Choose the correct answer from the 9/V" for alternatives and write the

option code and the corresponding @ *
Let n{A) = m ond n{B) = n then the 1oty| piPe! o MOMempty relations 1t an be defines
hun AtoB -
aym by g=.; T

2. T(x)=[x+1)" - (x-1)' represents a fyncpon vilich Is
a) Lincar b) Cub ¢} Regiptocd! u:}MM:
3. The sum of the exponents of the prime factors " dﬁ'ﬂlfﬂﬂﬂ‘lnhmﬂ 1729
1 b) 2 €) 3 _
4 #:mlnlrﬂhﬂ:numgerdmmﬂ;_ps .
a)na b) 75 car d 7
5. v + - lsnotequalto -#\1
¥ . - I
a) = B)(y+ +F e (yFt2 A2
6. 1f number of columns 2nd rows are not equal in 8 Matrix then &t Is said to te a
a) Diagonal matrix b) Rectangular u':utm
¢) Square matrix agj Idemlxl:z malric
. A t icular to the radius al
’ a]m ; wm:] Pe:f;t of contact *. ) Infinity d) Chord
8. [f slope of the line PQ -7 isumjsbmdmepﬂpﬂrri.:uhr h‘ﬁu:tn:ﬂnqug
— % ¥, - r u
C) I b} =3 )+
2.1} is the point of intersection of two lines
? gf:}-y-Jﬂ;h‘”-‘?__frﬂ byx+y=3;Ix ty=7
Ax+y=3xry=7- | d)x+3y-3=0x-y-7=0
10. If Sx=sec0and > =taInI3,HI-H1:1-;T is equal 1o
a) 25 T 05 , d};
. The relationship =n the height and radius of hemisphere s _
N a}m equal b) Equal c) Less than ) Greater than
12 Trehtfghtandmdi;ﬁd‘ﬂtmufﬂlm the frustum Is a part are h, units and r, units
" respectively, Height of the frustum Is by units and radius of the smaller base s r, units. 1f
h,:h, = 1:2 then r,:T, 1§ 1
2} 173 b 1:2 )21 d) 311
13. If the standard deviation of , y, 2 Is p then the slzn:éa]rg ﬂeluisatim of 3x+5, 3y+53245 15
Ip+5 b) 3p <€) pt ,
14. :gmgi‘bmmmlwalmkﬂﬁaw lsﬁmuﬂ_mekrwnmmmc If e
probability of kamalam winning IS 1, Then the number of tickets bought by kamalam b
8)5 b) 10 9¢) 1S u d) 20
10x2=20
Note: Answer any ten questions. Q.Na28 Is com _
15. A relaton R & given by the set {[!t.j':fz x+3, x € {0,1,2,3,4,5)). Determine s
domain and . _ |
16. If EH-LUTE? and : A~B Is an onfé function defined by f(x) = x'#x+1 then find B
17. Ma=—— thenfinda,anda,.
18. Find the ndamber of terms In the AP 9,120,111,
19. Find the excluded values of ———
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‘1'.';' =l 3 Ba] st wilves "-"':_:- AET Y and EC = 5o then fing th
<2 engtta of Lhe
e O ¥ 30y eng 410 9 4 '

I ASRC, L)), 4D oo D6
Sahe AR ) A,
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B T phe i '.‘1'.'|‘|"."-'hm-f_1 oyt Hmner 35=00n the Co-ardinate e,

w Pl P =

5. Find the standarg

pAUT I
Nate: Answer any 10 questions. Q.Hn. 474 compulsory, 10xS=50
.. Afunctlen I, [-5,9] - IR &5 dafined as 11 X 41115 ¢ ¥ <2
T I o L R T L
2=+ x4fb<cxcy

Find (02000 0 0BY () =
NEIERARE
30, Lettte atinthon £ N — 1 Do defined by 1) =342, x e 1,

(1) Pl Mg mianes of 1,2,3 (i) Fired the pre-images of 29,53
{in) IA=mtf, st type of function,
IV The sernogt fiest o, 2o ond 3n Lerms of 3 A Pare Sy S, and 3 respectively,
Froeoathy 5, = 35 -6, N
32, Feiha has 15 square coldur papers of 5‘-‘-"’*_'”""“- 1lem, 12am .....290m. How much area
can ba ¢rrated with thase colow papers’ -~ Y
33, Find the squrre oot of G - 16" 417X ¢ El'l'l."-;_‘*-r
[ ot |1'| T » ot i
34. Given i‘ﬁ‘l:ll :I.B= I ,:.I.'Et[_- ;J?m",uhtﬂrﬁlﬂﬂlﬁdq.
35 Orate and rrove dlermate seginent \heorent.
36 7 ol the e uotion of a straight fine oining the peint of intersaction of Sx + Iy = 21
aned Ji-y =11 the painl of intersoclian €T x +3y = 16 and 2x -y=14,’
sine”, l=sin® i

37. Trove ot tan’A - lanB = .
vors Aeest B

3¢ A mortsincr apan at the (op 15 in the form of 2 frestum of 8 cone of helght 16am with radii
et its kst 2nd Upper ends are Som and 200N fespectively. Find the cost of milk which cn
pompletely [l rentainer At the 12te of 75,40 per litre,

13 Aot ciralan cyliednzal cantainer of bace radius Gam and height 15cm is full of ice cream,
Tre ice cream Is to be filled in cones of height 9cm and base radius
2em, livaira 3 lemvsphencal cap. Find 1he number of cones needed to empty the container,

A0, Tww thoe are c'led togsther, Tind the probabllity of getting a daublet or sum of faces as 4
41 A vl clock winves the bhell once at 10'clock, 2 Bmes at 2o'clock, 3 Limes at 3o clock and so
on. Hawr moamy tmmes vall it strike in o partiadar day, Find the standard deviation of the
: number ! stnkes the bell moke a day. i
42. From e tapof @ tee of height 12m the angle of elevation and depression of the top and
te'tom of anether trea are 45° and 377 1espectively.  Find the height of the second tree.
[v:=1.732). J
' PART - IV
Hote: Answier both the questions choosing elther of the alternatives, 2xB8=16
43, ) Drove aeinele of radius 1.5om. Tate s mi“[mﬂul:irde. Draw the tangent at that point

N vsina il lternate seoment theoipm,

ar * 4

thrJrs.!h‘@ﬂfEAﬂCnftme&;:g:!n ) = 60" 2nd the bisector of ZA mects BC

g 3l U such that BD = 6 om ; ) .
41 a)Dizuthegraphol y = w4 ¢ +3 any henee find the roots of xT+x+1=0,
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